DUE TUESDAY: Long Division page
DUE THURSDAY: "Division Practicell” (2 pages!)
DUE FRIDAY: Mu/tiplication page (pick 5 to solve!)

My timed test on FRIDAY is on the facts!
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#Due Tuesday! #

Long Division
1 Digit Into 3 Digit Numbers - With Remainders l

Solve ¢ach problem. Then, chick-(Z) problems of your chodce !

(1) «|8]6 ¥ / (2) (3)
3)25 2 ) 125
, -2/4
D e [
Mx ~1
S - ¥
Bl P
C v +i__5_§__tre:mindu)
2.9Q v (dividend)
(4) (6)
9)35 7)5091
(7) (8) (9)
6)434 8 )734 3)499
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For questions 1-3, will the first digit of the quotient be in the hundreds place,
tens place, or ones place?

1. 2428 2. 5275 3. 3285

oooooooooooooooooooooooooooooooooooooooo

Qé‘ Are there enough
hundreds?

--------------------------------------

4. 1[5 5. 2007 6. (R
4)6 2 0 6)7 2 4 2 7)3 27 8
=1 = -

2 [ ]2 L]

-20 - -
[ ]o [ 142 L[]
-] - 1] -1
0 0 []

--------------------------------------

{ REMEMBER Divide,
i multiply, and subtract
i in each step.

.
--------------------------------------

Divide. Check your answers for 2 problems.

7. 3738 8. 8992 9. 5895
10. 36273 M. 55854 12. 458202 |

FOTS/IRE e

P

0
78 Domain 2: Number and Operations in Base Ten W GO‘ 5
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Complete each sentence.

13. 124 x 8 =992 is the opposite 0of 992 +

sl  Division
Prachce

¥ Due Thuvsdag?

14. 418 x 2 = 836 is the opposite of

Use the diagram to complete the sentence.

15, T TR w
igianghgkatakaiataigudndhotgns
U W W WY
TR W T W vy

60 -~ =

Choose the best answer.

17. Which isthe same as
218 -+ 5=43 + 3?

A. 43x3+5=218
B. 43x5+3=218
C. 43x5=218
D. 43x3=218

Solve.

19. Thereare 1,536 dancers at the
audition. The dancers will be in groups
of 6 in the first round. How many
groups of dancers will there be?

16.

18.

20. Atotal of 2,268 gallons of gas were
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Which is the same as
35x3+2=1077?

A. 107+-3=35
B. 107+2=35
C. 107 + 3 =35+ 2leftover
D. 107 + 2 =35+ 2leftover

used to fill up motorcycles. Each
motorcycle holds 7 gallons of gas.
How many motorcycles were filled?
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1. 12. y 13. 4. 15.
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